EARAROBEEIERT — 2 N— IBISH —F

2019574280 (H) 4EIEERSH

PPl 35 C1 =4 YS5% 3% (xwlw | lmEmml - |5 @) o 8
[AE4£] 1% :350,000” ~ 2%&:91,000” 33 :49,000 M  437%&:3500HMH .~ 57#&:17,000 H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o= 1o TIPSt : - — I RE (KR
117l 7 |87 k=0 % 3 7 1.(2_6).7 2-1 37.8 4 (4_117) :-zt.\aaf?gl (KiR)
R:IM1Y>T75vva B:7Req4vY7O0LY e ]
> # 3 | HER 1:27.3 1-1 38.6| — 1 465 | HREREZ (BERE)
EH A RE—V—H— 56.0 ) (-15) | EETE
L:wiNnNygrh7r By —Hh— H—L—- T vIN> - T7—LBRS
¢ = > 3| BFK 1:27.3 5-3 37.7| — 2 450 | HIEERI (KR)
35|55 | 28/ BT — 77| 5.0 (NP () |HER
R:jr—3I)7> B:35%252R AH BE
NN N3 : -~ — 2IE— (KR
4 NESTEFEF I 4 3 A 1.(268).2 7-6 38.3 6 (4_156) i
R:V2RYJUZXTR B34 FXIRS EvJdLy RTp—L
= i 3 | BEREE 1:28.3 3-4 39.2| — 3 454 | REERD (KIR)
589 F-F71+h 54.0 (1/9) ) |=HEB
RO—J XA 244 BaANLEA L RS
S 4 3 | BEEREA 1:28.4 9-5 38.2 — 7 454 | FEFK= (BER)
6l111|FL/VYZ A53.0 (3/4) ) i(/EE?&E
Ry —3IUFL BTAEIY i A
“ - # 3 | BERRE 1:29.5 4-7 40.2| — 9 453 | #FE— (KR)
718l10/ 7A3v bE—0O 56.0 @ (+3) | BAHAR
A0 BYIITIFF AE S
oo [k E : = — TEERZE (BER)
8 MAYAEY= 4 3 e 1.(219).7 5-7 40.0 10 ;1_1:) P
Lib—trT— BANIY—Y—Z =AlESS
oo - $hR%h :30. — . — HHEEZ (BE
9 2 | TRV =1 F/ IV "3 56.0 1(350)5 &9 02 ° (izg) Heh&E
RIZRT—WoF— BTN T4ZT Hep FHFx
= = i 3 | El%RL 1:30.5 9-9 40.0| — 8 451 | PR (BERE)
10/ 7| 8 ARAIVT AT 7 54.0 (74%) (-2) SFiEE
L:xrinMaO— B:¥xvry hXRU—F 2N EBS
® 1—F—@EBIERL
13—7-—
2a=5"=
Ja=5= 3,7,9,10,(4,5).,6,2,(1,8)
40—F— (3,7),5,9,1,6, (4,10), (2,8)
[ /N
B 7 700M 714K 3-7 150 e E 3-7 370 JEE 3-5-7 520
B B 7 1204 5-7 410 B = 3-7 400 JEE =5 4,210/
3 1004 3-5 200M B H 7-3 1,260M
0 140M

ABICOVWTRDTEEERROODE. TR LIV,




